EARAROBEEIERT — 2 N— IBISH —F

2019F9R25H (k) 10m%5#A2H

LN o%3m1 0 Y IR3W

(xwlw | lmEmml - |5 5) wom 8

[A&E£] 1% :270,000 @ ~ 23%:63,000 " ~ 3#&:27,000 W  43&:19,000" 5 3&:14,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
i 3 | EEEt 1:29.6 8-8-8-6 |37.9| — 1 435 | EEEREEL (S24R)
1 N 4 77:E"]"|‘)|/ 54.0 =) 7) |BBAAX
R:r—775>0 B:Fv—LKy b [B3%e ]
. : 4 3 | FEEREH 1:29.7 9-9-5-4 [38.5| — 2 477 | BB (554R)
2 5| TAUNILE 56.0 (3/4) @) | W v
R:ZoY—>ke—O— B:I7U—-Yrsr1a> AXREG2—T7—L
— e i3 | MK 1:30.2 7-7-3-1 | 39.6 | — 4 499 | JIIUBBLE (56H4)
kR 6 K —dREQON—E> 54.0 (2 1/2) (+25) AN Y=p N
LNnN—E>Yv— B:ZHRPERIEFZR F 4
- B . 4 _ HEHEE (F4)
4189|777V —=T—W % 3 | BHEA 1.(351).3 4-4-4-3 | 40.9 3 tg;; i
L:RY—LVvy—=— BT/ 74—8—X #E 2Rl
o o s PR AE 132, ~5-6- . — HAREER (%1R)
5 2 | R4 x T s 54.0 1(342)1 yeer |4 ’ f_?) %’éiﬁi? )
LA hk—L BHIFaTY NESEE RS
2 4 3 | RIAR 1:32.3 3-2-1-5 |42.5| — 6 430 | BB (5542)
6l717|3771U7 54.0 ( 1/2) (+1) | REER
RL:d—IRK7Ya—)b B:¥ /537 FRESS
; = 4 3 | EHEE 1:32.3 2-3-2-2 |42.5| — 5 507 | BAB— (&)
7188 TIrE—7 56.0 (NF) -1) EREZ
L:A—KAFA7 B:vhyI5— (B) A1 -KL—va> a7y
5 # 3 | RZaiE 1:36.4 6-6-9-9 |44.4| — 7 517 |$HREEX (BHE)
gl1|1|Fr—FNI1-2> 2520 (51 4) (o) | () k=
L:ANTT—TI B:YI7EXT-F2FK AR EH77—L4
. = 43 | DNEEEE— 1:38.8 1-1-7-8 | 48.7| — 9 455 | TOBF (BEHE)
9 3 HoFLER—F 54.0 (524 4%) -8) (%) KX
L:vavFrehr7 BZAH-UANRIE- T B H5
® I—F—@EBIERL
13—7F— 3,8,7,9,2,1,6,4,5
20—7— 3,7,8,9,2,1,6,4,5
T =35r= 7,8,6,9,5,2,3,4,1
41—F— 6,8,9,5,7,4,2,3,1
[ RN
B 4 250 794K 4-5 180M & 4-5 360 &R 4-5-6 490M
# B 4 1304 4-6 270M B E 4-5 4008 EE 4-5-6 2,140
5 130H4 5-6 280M B H 4-5 740M
6 160/

ABICOVWTRDTEEERROODE. TR LIV,




